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velocity, speed: v = 126,45/1,6 = 0,79 m/s
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17 |Cosine theorem In any triangle
18 a2 =b2 +c2- 2bc cos @
19 b2 = a2 + 2 - 2ac cos b
20/c2=a2+b2-2abcos g

ABCis

21 the square of the triangle is equal to the sum of the squares of the other parties
22 reduced by twice the product of these parties and the cosine of the angle cordoned them.
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17 |Cosine theorem: In any triangle ABC is
a2=b2+c2-2bccosa

c2=a2+b2-2abcos g

21 the square of the triangle is equal to the sum of the squares of the other parties
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17 |Cosine theorem: In any triangle ABC is
a2=b2+c2-2bccosa
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c2=a2+b2-2abcos g
21 the square of the triangle is equal to the sum of the squares of the other parties
reduced by twice the product of these parties and the cosine of the angle cordoned them.
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